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PR\ 5 %% Matlab R2019a

ARSI 26 1 4KAS\Q1_draw_normalize fit.m

close all;
load('origin_data.mat');

dC center 0 2 =(CO0_2(3:end) - CO_2(1:end-2))/0.02;
dC center 0 4 =(C0 _4(3:end) - CO_4(1:end-2))/0.02;
dC center 0 6 =(CO_6(3:end) - CO_6(1:end-2))/0.02;
dC center 0 8 =(CO_8(3:end) - CO_8(1:end-2))/0.02;
dC center 1 =(C1(3:end) - C1(1:end-2))/0.02;

R[D center 0 2=-1J0 2(2:end-1) ./ dC_center 0 2;

D center 0 4=-J0 4(2:end-1)./dC center 0 4;

D center 0 6 =-J0 6(2:end-1)./dC center 0 6;

D center 0 8 =-J0 8(2:end-1) ./ dC center 0 8;

D center 1 =-J1(2:end-1)./dC _center 1;

D center 0 2(D_center 0 2==inf)=0;

D center 0 4(D center 0 4==inf)=0;

D center 0 6(D center 0 6==inf)=0;

D center 0 8(D center 0 8==inf)=0;

D center 1(D_center 1==inf)=0;
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Const] =0.0808; Const21 =11.199; Const22 = 0.5794;

dC model 0 2 =Constl * Const21 * exp(-Const21 * x + Const21 * Const22) ./ ((1 +
exp(-Const21 * x + Const21 * Const22)).”2);

Constl =0.079; Const21 = 8.1198; Const22 = 0.5695;

dC_model 0 4 =Constl * Const21 * exp(-Const21 * x + Const21 * Const22) ./ ((1 +
exp(-Const21 * x + Const21 * Const22))."2);

Constl =0.07623; Const21 = 6.7198; Const22 = 0.5564;

dC model 0 6 =Constl * Const21 * exp(-Const21 * x + Const21 * Const22) ./ ((1 +
exp(-Const21 * x + Const21 * Const22)).”2);

Constl =0.0714; Const21 = 6.1099; Const22 = 0.543;

dC model 0 8 = Constl * Const21 * exp(-Const21 * x + Const21 * Const22) ./ ((1 +
exp(-Const21 * x + Const21 * Const22))./2);

Constl =0.06565; Const21 = 5.8198; Const22 =0.5314;

dC model 1= Constl * Const21 * exp(-Const21 * x + Const21 * Const22) ./ ((1 + exp(-
Const21 * x + Const21 * Const22))."2);

D model 0 2=-J0 2./dC model 0 2;

D model 0 4=-J0 4./dC model 0 4;

D model 0 6=-J0 6./dC model 0 6;

D model 0 8=-J0 8./dC model 0 8;

D model 1=-J1./dC model 1;

dD model 0 2= (D model 0 2(2:end)-D model 0 2(1:end-1))./(CO_2(2:end)-
CO_2(1:end-1));
max_dD_model = 0; min_dD_model = 999;
fori=1:100
if1> 50 && dD_model 0 2(i) > max_dD model
tail = i;
max_dD model =dD_model 0 2(i);
end
if1>40 && 1 <60 && abs(dD _model 0 2(i)) <min_dD_model
head =1;
min_dD model = abs(dD_model 0 2(i));
end
end
D model fit 0 2=D model 0 2;
D model fit 0 2(1:head) =D model 0 2(head) + min_dD model * (CO_2(1:head) -
CO_2(head));
D model fit 0 2(tail:end) =D_model 0 2(tail) + max_dD model * (CO 2(tail:end) -
CO_2(tail));

dD model 0 4= (D _model 0 4(2:end)-D model 0 4(1:end-1))./(CO_4(2:end)-
CO_4(1:end-1));
max_dD model = 0; min_dD model = 999;
fori=1:100
if1>50 && dD _model 0 4(i) > max dD model
tail = 1;
max_dD_model =dD_model 0 4(i);
end
ifi>40 && 1 <60 && abs(dD_model 0 4(i)) <min_dD_model
head = i;
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min_dD model = abs(dD_model 0 4(i));

end
end
D model fit 0 4 =D model 0 4;
D model fit 0 4(1:head)=D model 0 4(head) + min_dD model * (CO_4(1:head) -
CO_4(head));
D model fit 0 4(tail:end) =D model 0 4(tail) + max dD model * (CO_4(tail:end) -
CO_4(tail));

dD model 0 6 =(D model 0 6(2:end)-D model 0 6(1:end-1))./(CO_6(2:end)-
CO_6(1:end-1));
max dD model = 0; min_dD model = 999;
fori=1:100
if1> 50 && dD_model 0 6(i) > max_dD model
tail = 1;
max_dD_model =dD _model 0 6(i);
end
1f1>40 && 1 <60 && abs(dD _model 0 6(i)) <min _dD model
head =1;
min_dD model = abs(dD_model 0 6(1));
end
end
D model fit 0 6 =D model 0 6;
D model fit 0 6(1:head) =D model 0 6(head) + min_dD model * (CO_6(1:head) -
CO_6(head));
D model fit 0 6(tail:end) =D model 0 6(tail) + max dD model * (CO_6(tail:end) -
CO_6(tail));

dD model 0 8 =(D _model 0 8(2:end)-D model 0 8(1:end-1))./(CO_8(2:end)-
CO_8(1l:end-1));
max_dD model = 0; min_dD model = 999;
fori=1:100
if1>50 && dD _model 0 8(i) > max dD model
tail = 1;
max_dD_model =dD_model 0 8(i);
end
ifi>40 && 1 <60 && abs(dD_model 0 8(i)) <min_dD_model
head =1,
min_dD_ model = abs(dD _model 0 8(i));
end
end
D model fit 0 8 =D model 0 §;
D model fit 0 8(1:head)=D model 0 8(head) + min dD model * (CO_8(1:head) -
CO_8(head));
D model fit 0 8(tail:end) =D model 0 8(tail) + max dD model * (CO_8(tail:end) -
CO_8(tail));

dD model 1=(D_model 1(2:end)-D model 1(1:end-1))./(C1(2:end)-C1(1:end-1));
max_dD_model = 0; min_dD_model = 999;
fori=1:100
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if1> 50 && dD_model 1(i) > max_dD model
tail = 1;
max_dD_model =dD_model 1(i);
end
if1>40 && 1 <60 && abs(dD_model 1(i)) <min_dD model
head =1;
min_dD model = abs(dD_model 1(i));
end
end
D model fit 1 =D model 1;
D model fit 1(1:head) =D model 1(head) + min dD model * (C1(1:head) - Cl(head));
D model fit 1(tail:end) =D model 1(tail) + max dD model * (Cl(tail:end) - Cl(tail));

figure;
plot((CO_2(2:end-1)-min(CO_2(2:end-1)))/(max(C0O_2(2:end-1))-min(CO_2(2:end-
1))),D_center 0 2.'.--"'color',[40 160 220]/255);hold on;
plot((CO_4(2:end-1)-min(CO_4(2:end-1)))/(max(C0O_4(2:end-1))-min(CO_4(2:end-
1))),D_center 0 4,'.--"'color',[250 150 50]/255);hold on;
plot((CO_6(2:end-1)-min(CO_6(2:end-1)))/(max(C0O_6(2:end-1))-min(CO_6(2:end-
1))),D_center 0 6,'.--"'color’,[125 150 75]/255);hold on;
plot((CO_8(2:end-1)-min(CO_8(2:end-1)))/(max(C0O_8(2:end-1))-min(CO_8(2:end-
1))),D _center 0 8,'.--','color',[225 90 40]/255);hold on;
plot((C1(2:end-1)-min(C1(2:end-1)))/(max(C1(2:end-1))-min(C1(2:end-1))),D center 1,'".-
-','color',[ 135 55 145]/255);hold on;

plot((CO_2(2:end-1)-min(CO_2(2:end-1)))/(max(C0O_2(2:end-1))-min(CO_2(2:end-
1))),D_model fit 0 2(2:end-1),-','color',[40 160 220]/255,'linewidth',1);hold on;
plot((CO_4(2:end-1)-min(CO_4(2:end-1)))/(max(C0O_4(2:end-1))-min(CO_4(2:end-
1))),D_model fit 0 4(2:end-1),-','color',[250 150 50]/255,'linewidth’,1);hold on;
plot((CO_6(2:end-1)-min(CO_6(2:end-1)))/(max(C0O_6(2:end-1))-min(CO_6(2:end-
1))),D_model fit 0 6(2:end-1),-','color',[125 150 75]/255, linewidth’,1);hold on;
plot((CO_8(2:end-1)-min(CO_8(2:end-1)))/(max(CO_8(2:end-1))-min(CO_8(2:end-
1))),D_model fit 0 8(2:end-1),-','color',[225 90 40]/255,linewidth’,1);hold on;
plot((C1(2:end-1)-min(C1(2:end-1)))/(max(C1(2:end-1))-min(C1(2:end-
1))),D_model fit 1(2:end-1),"-','color',[ 135 55 145]/255, linewidth’,1);hold on;

ylim([0.045 0.085]);

xlabel(normal(C)");

ylabel('D");

legend('data D0.2','data D0.4",'data D0.6','data D0.8','data D1','model fit D0.2','model fit
DO0.4','model fit D0.6','model fit D0.8','model fit D1','location’,'northwest');

title('"H 0 % B IEFARRLH — AL 45 SRR L),

figure;

cut = 0;

average Error0 2 = mean((D_model fit 0 2(2+cut:end-1-cut)-D_center 0 2(1+cut:end-
cut)).”2);

average Error0 4 = mean((D_model fit 0 4(2+cut:end-1-cut)-D_center 0 4(1+cut:end-
cut)).”2);

average Error0) 6 = mean((D model fit 0 6(2+cut:end-1-cut)-D center 0 6(1+cut:end-

51




cut))."2);

average Error0 8 = mean((D model fit 0 8(2+cut:end-1-cut)-D center 0 8(1-+cut:end-
cut))."2);

average Errorl = mean((D model fit 1(2+cut:end-1-cut)-D center 1(1+cut:end-
cut))."2);

average Error = [average Error(0 2 average Error0 4 average Error0 6 average Er-
rorQ) 8 average Errorl]

plot((CO_2(2+cut:end-1-cut)-min(CO_2(2+cut:end-1-cut)))/(max(CO_2(2+cut:end-1-cut))-
min(CO_2(2+cut:end-1-cut))),(D_model fit 0 2(2+cut:end-1-cut)-D_cen-

ter 0 2(1+cut:end-cut)).”2,'-','color',[40 160 220]/255);hold on;
plot((CO_4(2+cut:end-1-cut)-min(CO_4(2+cut:end-1-cut)))/(max(C0O_4(2+cut:end-1-cut))-
min(CO_4(2+cut:end-1-cut))),(D_model fit 0 4(2+cut:end-1-cut)-D cen-

ter 0 4(1+cut:end-cut)).”2,'-','color',[250 150 50]/255);hold on;
plot((CO_6(2+cut:end-1-cut)-min(CO_6(2+cut:end-1-cut)))/(max(CO_6(2+cut:end-1-cut))-
min(CO_6(2+cut:end-1-cut))),(D_model fit 0 6(2+cut:end-1-cut)-D_cen-

ter 0 6(1+cut:end-cut)).”2,'-','color',[ 125 150 75]/255);hold on;
plot((CO_8(2+cut:end-1-cut)-min(CO_8(2+cut:end-1-cut)))/(max(CO_8(2+cut:end-1-cut))-
min(CO_8(2+cut:end-1-cut))),(D_model fit 0 8(2+cut:end-1-cut)-D cen-

ter 0 8(1+cut:end-cut)).”2,'-','color',[225 90 40]/255);hold on;
plot((C1(2+cut:end-1-cut)-min(C1(2+cut:end-1-cut)))/(max(C1(2+cut:end-1-cut))-
min(C1(2+cut:end-1-cut))),(D_model fit 1(2+cut:end-1-cut)-D_center 1(1+cut:end-
cut)).”2,"-','color',[ 135 55 145]/255);hold on;

ylim([-2e-4 1e-3]);

xlabel("normal(C)");

ylabel('error(D)");
legend('D0.2','D0.4','D0.6','D0.8",'D1",'location’,northwest');
title(“IZ 1E Jo A AH N T Z2 H — L 45 SRR 22,

figure;

plot(CO 2(2:end-1),D model fit 0 2(2:end-1),-','color’,[40 160 220]/255,'lin-
ewidth',1);hold on;

plot(CO_4(2:end-1),D model fit 0 4(2:end-1),-','color',[250 150 50]/255,'lin-
ewidth',1);hold on;

plot(CO_6(2:end-1),D model fit 0 6(2:end-1),-','color',[125 150 75]/255,'lin-
ewidth',1);hold on;

plot(CO_8(2:end-1),D_model fit 0 8(2:end-1),-','color',[225 90 40]/255,'lin-
ewidth',1);hold on;

plot(C1(2:end-1),D_model fit 1(2:end-1),"-','color’,[ 135 55 145]/255, linewidth',1);hold
on;

ylim([0.02 0.1]);

xlabel('C");

ylabel('D");

legend(‘'model fit D0.2','model fit D0.4",'model fit D0.6','model fit D0.8','model fit D1','lo-
cation','northwest');

title(“2 1F f5 A 45 1),
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save('Ql_Ans','D center 0 2''D center 0 4''D center 0 6'.'D center 0 8D cen-
ter 1','D_model fit 0 2''D model fit 0 4.'D model fit 0 6'.'D_model fit 0 8'.,'D mo
del fit 1''D model 0 2'.'D model 0 4'.'D model 0 6','D model 0 8'.'D model 1');
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